THE LIVERPOOL INSTITUTE
Margaret Bryce Smith Scholarships, 1953
ARITHMETIC
SECTION A
Time allowed—30 Minutes

Put your name and initials and vour number on each
sheet of paper which you use.

1. 738493 —245.
2, Divide £75. 15s. 104d. by 19,
3. Bring 4.323 Ib. to tons, ewt.. grs., Ib.

4. How many times is 2s. 3. contained in £2? \What
1$ the remainder ¥

5. Bring 2 miles 5 turlongs 7 chains to yards.

6. Simplifyv:
(i) Bi—4i-22: (it) 3353,

LJ'

7. Find the value of 23 times £5. 8s. 44,

8. What is the avea of a carpet (3 ft. 6 in. long and
10 ft. 6 m. wide ? Give vour answer in sqnare vards.

9. What fraction is
(i) 3d.of 12« 6d.: (i) 1s. 4. of £1+

10. If 2 tons 3 ewt. of eoal cost £10. 13s. 8d., what
would 1 ton 5 ewt. cost ?
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